Accentra52i-TC Service Rail Kit

Installation Instructions - Part #1-00-574354

HARMAN]

BUILT TO A STANDARD, NOT A PRICE

Kit Contents:

(1) Scissor Jack w/Adjustment Bolt

(2) Service Rails

(8) 1/4-20 x 3/8 - Rail Bolts

(2) 1/4-20 x 1-1/2 - Wingscrew w/collar
(2) 1/4-20 Wing Nut

Tools Needed:

Gloves

3/8” Wrench

Screw Gun with 3/4” socket or Ratchet Wrench

Install the service rails onto the scissor jack by lining up the
holes from the service rails to the holes in scissor jack and
install (2) wingscrews.

Slide the service rails into the unit, install and tighten the (8)
1/4-20 x 3/8” rail bolts.

For height adjustment of the scissor jack the use of a screw
gun and socket (3/4”) or ratchet wrench are the easiest
options.

Note: Flange bolts have locking nuts on them and no longer
need to be tightened. All adjustments are now done with the
adjustment bolt.

(2) 1/4-20 x 1-1/2 - Wingscrew w/collar

(2) 1/4-20 - Wing Nut

(1) Scissor Jack
w/Adjustment Bolt

Screw Gun with Socket
or Ratchet Wrench

(8) 1/4-20 x 3/8
Rail Bolts

(2) Service Rails

3-89-574354_R3 - 07/19



